
ΘΕΜΑ	
  Β	
  
	
  
Ι.	
   Από	
   κάθε	
   τοκετό,	
   συνήθως,	
   προκύπτει	
   ένα	
   βρέφος.	
   Ωστόσο	
   είναι	
   πιθανό	
   να	
  
γεννηθούν	
  δύο	
  ή	
  και	
  περισσότερα.	
  Να	
  απαντήσετε	
  στις	
  ερωτήσεις:	
  

	
  
α)	
  Ποιος	
   είναι	
   ο	
   λόγος	
   για	
   τον	
   οποίο	
   συνήθως	
   γεννιέται	
   ένα	
   βρέφος	
   ανά	
   τοκετό;	
  
(2μ)	
  

β)	
   Σε	
   ορισμένες	
   περιπτώσεις	
   διδύμων,	
   τα	
   δύο	
   παιδιά	
   ανήκουν	
   σε	
   διαφορετικό	
  
φύλο.	
  Πώς	
  ονομάζονται	
  τα	
  δίδυμα	
  αυτά;	
  Πώς	
  προκύπτουν;	
  (4μ)	
  

γ)	
   Σε	
   άλλες	
   περιπτώσεις	
   τα	
   δίδυμα	
   ανήκουν	
   στο	
   ίδιο	
   φύλο	
   και	
   μοιάζουν	
  
καταπληκτικά	
   μεταξύ	
   τους.	
   Ποιος	
   είναι	
   ο	
   πιθανός	
   λόγος	
   για	
   τον	
   οποίο	
   συμβαίνει	
  
αυτό;	
  Πώς	
  ονομάζονται	
  τα	
  δίδυμα	
  στην	
  περίπτωση	
  αυτή;	
  (4μ)	
  

δ)	
  Στην	
  περίπτωση	
  της	
  εξωσωματικής	
  γονιμοποίησης	
  αυξάνουν	
  οι	
  πιθανότητες	
  για	
  
την	
  ύπαρξη	
  πολλαπλών	
  κυήσεων.	
  Πού	
  οφείλεται	
  αυτό;	
  (2μ)	
  	
  

	
  
ΙΙ.	
   Μεταξύ	
   των	
   αιμοφόρων	
   αγγείων	
   περιλαμβάνονται	
   αγγεία	
   που,	
   λόγω	
   της	
  
μικρής	
   διαμέτρου	
   τους,	
   χαρακτηρίζονται	
   ως	
   τριχοειδή.	
   Να	
   απαντήσετε	
   στις	
  
ερωτήσεις:	
  
	
  
α)	
   Μεταξύ	
   ποιων	
   άλλων	
   αγγείων	
   παρεμβάλλονται	
   τα	
   τριχοειδή	
   αγγεία;	
   Από	
   τι	
  
συνίσταται	
  το	
  τοίχωμα	
  τους;	
  Πώς	
  ονομάζεται	
  το	
  είδος	
  ιστού	
  που	
  το	
  αποτελεί;	
  (6μ)	
  
	
  
β)	
  Ποια	
  αέρια	
  ανταλλάσσει	
  το	
  αίμα	
  με	
  τα	
  κύτταρα	
  των	
  ιστών,	
  μέσω	
  του	
  τοιχώματος	
  
των	
  τριχοειδών	
  αγγείων;	
  	
  (2μ)	
  
	
  
γ)	
  Ποιο	
  χαρακτηριστικό	
  της	
  ροής	
  του	
  αίματος	
  στα	
  τριχοειδή	
  αγγεία,	
  διευκολύνει	
  την	
  
ανταλλαγή	
  αερίων	
  που	
  αναφέρονται	
  στο	
  β.	
  ερώτημα;	
  (3μ)	
  
	
  
δ)	
   Ποια	
   είναι	
   τα	
   είδη	
   κυττάρων	
   που	
   έχουν	
   την	
   ικανότητα	
   να	
   διαπερνούν	
   τα	
  
τοιχώματα	
  των	
  τριχοειδών	
  αγγείων;	
  (2μ)	
  	
  
	
  
ΘΕΜΑ	
  Δ	
  
	
  
Το	
   νευρικό	
   σύστημα	
   του	
  ανθρώπινου	
   οργανισμού	
  αποτελείται	
   από	
   δύο	
   κύρια	
  
τμήματα.	
  Παρά	
  το	
  ότι	
  καθένα	
  από	
  αυτά	
  εκτελεί	
  την	
  δική	
  του	
  λειτουργία,	
  και	
  τα	
  
δύο	
  συνεργάζονται	
  προκειμένου	
  το	
  νευρικό	
  σύστημα	
  στο	
  σύνολό	
  του	
  να	
  φέρει	
  
σε	
  πέρας	
  το	
  βιολογικό	
  ρόλο	
  του.	
  	
  
	
  

I. Ποια	
  είναι	
  τα	
  τμήματα	
  αυτά;	
  Από	
  ποια	
  όργανα	
  αποτελείται	
  το	
  καθένα;	
  Ποιος	
  
είναι	
  ο	
  κύριος	
   ιστός	
  από	
  τον	
  οποίο	
  αποτελούνται	
  τα	
  όργανά	
  τους;	
  Ποια	
  είναι	
  
τα	
  είδη	
  κυττάρων	
  από	
  τα	
  οποία	
  συνίσταται	
  ο	
  ιστός	
  αυτός;	
  	
  
	
  



II. Συντάξτε	
   ένα	
   μικρό	
   κείμενο	
   στο	
   οποίο	
   να	
   εξηγείτε	
   με	
   τη	
   χρήση	
   ενός	
  
παραδείγματος	
   πώς	
   τα	
   δύο	
   κύρια	
   τμήματα	
   του	
   Νευρικού	
   Συστήματος	
  
συνεργάζονται,	
  ώστε	
  το	
  σύστημα	
  αυτό	
  να	
  λειτουργεί	
  ενιαία.	
  (12+13μ)	
  

	
  


